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. Find 1||n —_ ! \:[ i 1)} . (10%}

> (2n 1} {’ra—,— 3y
9 Let f(z) =Inlt+a)
(a) Find the [ourlii-degree Taylor polynomiat for f sxpended aboul o = 0. and use it
to approximate (L1} (3% )
(L) Find a bound for the error 12 Lhe approximation in {a). (77,

3 Tiud an approximale roov of 2 =227 =5 = 0in{1,4] with 13-4 accuracy by Newton's

melhod. _ 0%
 Let Fz) = jﬁ —1-—,:1'.".. Find £7(1). (10% )
a2 T L7 !

5 [ind the solution of the initial value problem:
oty =y by =0, W-n=1,yi-1=0 (10%%)

CFind 2o orthonemal basis in 77 fur the ses of vectors in Lhe place 2z —y—z =0 (13% )

-1 =3 =4
Let A= o0 5 18
¢ -2 -7,
(a) Find the cheenviiues ul A and the assecinted eizenveclors, : A}
(b} Find Lhe eigenvalues of A= and thie asseciated cigenveelom. (3% )
(z) Is A posibive soenvidebnile 7 Suale vour reasan. {2%%)
(d} Find A~ {87)
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